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Resta (horizontal)

Nombre;

Resuelve cada problema.

1) 9,567 - 4,698 =

2 85 - 1 =

3) 4,534

1
~
|

4 7,707

1
=
oo
=
I

5 8,938

1
w
|

|

6)

2,984 - 1,833 =

) 677 - 333 =

8 932 - 9

9 99 - 90

10)

1,673 - 3

1) 212 - 7 =

12) 706 - 49 =

Respuestas

10.

11

12.

1-10
11-12

10
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ﬂh Resta (horizontal)

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 9,567 - 4,698 = 4,869

2 85 -1 = 84

4 7,707 - 181 = 7,526

5 8,938 - 31 = 8,907

6) 2,984 - 1,833 = 1,151

) 677 - 333 = 344
8 932 - 9 = 923
9 99 - 90 = 9

100 1,673 - 3 = 1,670

1) 212 - 7 = 205

12) 706 - 49 657

Respuestas
1 4,869
2, 84
3 4527
4 7,526
5, 8,907
6. 1,151
7 344
8. 923
9 9
10. 1,670
11. 205
12. 657
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JL_

Resta (horizontal) Nombre:
Resuelve cada problema. Respuestas
344 4,527 9 4,869 1,151
84 7,526 1,670 923 8,907 1.
2
1) 9,567 - 4,698 =
3.
4,
2 85 -1 =
5.
3) 4,534 - 7 = o
7.
4 7,707 - 181 = 8.
0.
5 8,938 - 31 = 10.
6) 2,984 - 1,833 =
) 677 - 333 =
8 932 - 9 =
9 99 - 90 =
10) 1,673 - 3 =
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